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ADVANCE COST ACCOUNTING
Time Allowed : Three Hours
Maximum Marks : 100

Minimum Pass Marks : 36
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Note : Attempt all five questions. One question from
each unit is compulsory. All questions carry equal
marks.

&1/ Unit-I

Q. 1. NG oY T & ? TP IR FRAT U §9 3A1eA

TR @ 6 PR TEIar BT & ?

What is Cost Accounting? In what is their

preparation helpful to a large manufacturing
concern ?

31a1r/OR
Jues & for wweR @ Fifra s o fofie
ygfdt @ fagom il

I'1 230 PITIOI

(2)
Discuss the different methods of pricing the
materials issued from stores for production.
gB18—I1 / Unit-I1

Q. 2. UH I DI 5000 THEAN 3G B DI AN o7
g
I 20,000 3, 9 25,000 T, GE AT 400 X,
ferR 3uRe@ 16,000 ¥ vd uRad-eia 3uRad
4,000 X
%] B UUB 1000 3faRad sorgal &I fmfor &=
d 3 and e PR ¥ dear &

(31) AR SIS
(§) s U A 10% &H

(}) T8 FT SIS

(@) R =a 200 3 SHfaRad

(§) uRad=ela &g 3ud ¥ 25% HH

39 (i) 9% BT 8,000 THEAT & IUTEH DI SFIHI
g s Pitore e (i) fTame 6 o s
3MEM aft HREMT IURTT A W eI & ?

The cost of manufacturing 5000 units of a

commodity comprises : Material ¥ 20,000;
Wages X 25,000; Direct expenses X 400.

Fixed overhead X 16,000 and variable overhead
4,000.
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(3)
For manufacturing every 1000 extra units of a
commodity the cost of production increases as
follows :
a) Material proportionately
b) Wages 10% less than proportionately

(
(
(c) Direct expenses proportionately
(d) Fixed overhead X 200 extra
(e) Variable overhead 25% less than

proportionately.
Calculate (i) the estimated cost of producing
8000 units of the commodity and (ii) show how
much it would differ if factory overhead is based
on labour.

3121a1/OR

fr=fafed i & gRT oA ol v faxia ot
F MUR W A A B a1 & IR & Hea=
DI :

3qE ‘3 3qE T
SPHISAT I TS 600 SHIZAT 400 SHBAT
T TcaE A 3 3,600 3 2,800
oA TaE HH T 3,000 T 2,400
oo qea wfa sars T 25 T 30

HREMT IURTT JT @AW B 60% TAT BIAC
JIRT HREMT JURTT BT 40% T T 2l
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(4)
ardidd PREMT GT 4,500 T dUT dAET TT
3,900 T &l yRfe dur sifaw wWie T8 2

Find out the profit as per costing records and

financial accounts from the following information
and reconcile the results :
Product ‘A’ Product ‘B’

No. of units produced

and sold 600 units 400 units
Total Direct Materials % 3,600 T 2,800
Total Direct Wages % 3,000 % 2,400
Selling price per unit 3 25 % 30

Works overhead is charged at 60% of prime cost
and office overhead at 40% of works overhead.
Actual works expenses amounted to X 4,500 and
office expenses X 3,900. There were no opening
or closing stocks.

$P-11I / Unit-II1

Q. 3. UHEU URITTHT o GRUW A5 dar 395 T
&7, 3¢ vd fgom, ow vd g9t 9 siesar &
que HIfoTe|
Define uniform costing and mention its usage
area, rise and development, advantages,
disadvantages and difficulties.
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(5)
312@1/OR

vs fmion R &1 3are ar faftrt ar 3R w9
BaR oRal & IR TR we # Jar 81 98 Aew
g fo aF faftradt & oo wged 9R @1 5% @9 &
ST & 3R 10% 3/ gTar & s ‘31 3k § fafer
& oA 80 T ufd o dor 200 ¥ wfd o fassar
2l

el Ot & e e €

fafer ‘a1 fafer &
| (e #H) 1000 70
I & @ (afd e T H) 125 200
o () 28,000 10,000
o = () 8,000 5,250
3de (T #) 830 780

fafer @ qoR Fifoe s a=i faftl & ufa e
o gawe| fEr o fofer § o8 wie & e
The product of a manufacturing concern passes
through two processes A and B and then to
finished stock. It is ascertained that in each
process 5% of the total weight is lost and 10% is
scrap which from processes A and B realises X
80 per ton and X 200 per ton respectively.

The following are the figures relating to both the

processes :
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(6)
Process ‘A" Process ‘B’
Materials (ton) 1000 70
Cost of materials (X per ton) 125 200
Wages (%) 28,000 10,000
Manufacturing expenses (%) 8,000 5,250
Output (ton) 830 780

Prepare process cost accounts showing cost
per ton of each process. There was no stock in
any process.

gB1—IV / Unit-IV

Q.4 dE Toc T 2 ? Adbe Solc s @ faf
Al &1 aulA e
What is cash budget ? Describe the various
methods of preparing cash budget.
31U4ar/OR
UH o] @B YA and e refaied faxarar @
The standard cost card for a product shows the
following :
Per units
Material cost — 2 kg @ X 2.50 per kg % 5.00
(MR @)
4 (Wages) — 2 hours @ 0.50 per hour % 1.00
% 6.00
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(7)
RS fHai & adias 36 9 TR &

The actuals datas which have emerged from

business operations are as follows :

3dTa (Production) 8000 units
TR BT 3TN (Material consumed)
16,500 kg @ ¥ 2.40 per kg ¥ 39,600
HH DI YA (Wages paid)
18,000 hours @ X 0.40 per hour % 7,200
3 46,800

Jugad AR Td s fqEROl @ UMl @ifotel

Calculate appropriate material and labour

variances.

3BV / Unit-V
WIS @M (Fixed cost) 3 1,00,000
yia sorR fama g
(Selling price per unit) 310
yf e URadHRIe AN
(Variable cost per unit) X6

(a) 3WfE & MR W wo-fawe fog (sPHmal #)
A DI
Find out B.E.P. (in units) on the basis of

above facts.
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(8)
(b) sarge & =1 zemsht & wu-fowe fog =

BRI E

State that what will be the impact on B.E.P.

under following cases :

() RerR @@ # 10% &' gfg (Fixed cost
increase by 10%)

(i) oRad=ene @ma ¥ 10% & gfg (Variable
cost increase by 10%)

(i) ferR @mg # 10% @ W, afed
URac-eNa @l § 10% @ g (Fixed
cost decrease by 10% but variable cost
increase by 10%)

31ar/OR
yeeeg ol d§ e ara O & e
E@uUl IWN P gt
State some of the important applications of

marginal costing for managerial decisions.
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